Division par Puissances de Dix (E)

Trouvez chaque quotient.

2,74 + 10% = 8,3 =101 =
8,5+ 10" = 2,452 +10°% =
6,65 + 10° = 8,0495 + 102 =
4,224 +10* = 77 +10%=
1,85 + 103 = 6,67 = 103 =
7,9337 = 10 = 6,4+ 103 =
5,616 + 10% = 8,9 ~ 10% =
3,48 + 102 = 9,045 + 10 =
2,6 +10% = 5,266 + 10% =
8,1393 + 103 = 4,943 = 103 =
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Division par Puissances de Dix (E) Solutions

Trouvez chaque quotient.

2,74 + 107 =0,0274 8,3 +10'=0,83

8,5+ 10'=0,85 2,452 +10° = 0,002452
6,65 + 10° = 0,00665 8,0495 =+ 10% = 0,080495
4,224 + 10' =0,4224 7,7 +10*= 0,077

1,85 + 10° = 0,00185 6,67 + 10° = 0,00667
7,9337 + 10 =0,79337 6,4 +10°=0,0064
5,616 +~ 10° = 0,05616 8,9 +~ 10% = 0,089

3,48 + 10% = 0,0348 9,045 + 10* = 0,9045

2,6 ~10%=0,026 5,266 + 10% = 0,005266
8,1393 + 10° = 0,0081393 4,943 + 10° = 0,004943
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